
Steel columns
1:20

Detail A
1:10

Section 1
1:10

A

1

00

1-11 Oxford St., Paddington, NSW 2021

1222

REV DATE DRNDESCRIPTION

Structural notes:

A3

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

Steel columns
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

30.01.2025

- All workmanship & materials to be in accordance with AS 4100.
- Steel shall have a minimum yield stress (fy) of 250 MPa U.N.O.
- All welding to be general purpose (GP) in accordance with
AS/NZS 1554 using electrode types E48XX or W50X minimum U.N.O.
- Welds to be 6mm continuous fillet welds unless otherwise noted.
Butt welds are to be complete penetration butt welds as defined
in AS/NZS 1554 U.N.O.
- Bolts, nuts and washers to be supplied as hot dip galvanised
by the bolt manufacturer. After tightening, exposed faces of bolts,
nuts and washers shall be prepared and coated as specified, or
as for adjacent steelwork.
- All plate  corners to have radius 3mm.
- All plate grade 300.
- All beams UC, UB, PFC grade 300.
- All SHS, RHS grade 350.
- All steel to be primed.

00 for production30/01/2025

11
0

SC1-1

SC1-1 SC1-1

SC1-1

DET. A

11
0

11
0

110

EXISTING FACADE LINE

C
EN

TE
R

 L
IN

E 
O

F 
PO

R
TI

C
O

2560

2739 1304

76
0

17
25

1260130013001260
2560

11
0

11
0

110
110

110

11
0

110
110

11
0

110
110

11
0

SC1-1

15
0

150

300mm EMBEDMENT
8M24 G8.8 L BARS

1 1
150

15
0

20

SC1-1

300mm EMBEDMENT
8M24 G8.8 L BARS

FROM COLUMN
TO FALLS AWAY
NON SHRINK GROUT

+47.440

10
020



Section 8
1:10

Section 2
1:10Detail B

1:10

Section 7
1:10

Detail F
1:10Section 6

1:10

Detail E
1:10 Section 9

1:10
Detail G

1:10

Section 5
1:10

Detail D
1:10

Section 4
1:10Section 3

1:10
Detail C

1:10

Steel beams
1:20

Detail H
1:10

Detail I
1:10

Section 10
1:10

Section 11
1:10

B3-2

B4-1

4*M20x50

+51.960

+52.108

+52.260

30
0

15
2

00

1-11 Oxford St., Paddington, NSW 2021

1222

REV DATE DRNDESCRIPTION

Structural notes:

A2

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

Steel beams
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

30.01.2025

- All workmanship & materials to be in accordance with AS 4100.
- Steel shall have a minimum yield stress (fy) of 250 MPa U.N.O.
- All welding to be general purpose (GP) in accordance with
AS/NZS 1554 using electrode types E48XX or W50X minimum U.N.O.
- Welds to be 6mm continuous fillet welds unless otherwise noted.
Butt welds are to be complete penetration butt welds as defined
in AS/NZS 1554 U.N.O.
- Bolts, nuts and washers to be supplied as hot dip galvanised
by the bolt manufacturer. After tightening, exposed faces of bolts,
nuts and washers shall be prepared and coated as specified, or
as for adjacent steelwork.
- All plate  corners to have radius 3mm.
- All plate grade 300.
- All beams UC, UB, PFC grade 300.
- All SHS, RHS grade 350.
- All steel to be primed.

00 for production30/01/2025

Gutter

F1-1

+52.133

S1-1

va
r.

89

S1-1

89

6*M20x70

2

2

F1-1

4*M20x50B3-6
B1-2

+51.945

+52.260

+52.108

15
2

31
5

B1-2
B3-6

30
7

7

7

B2-2
4*M20x55

B3-5

BR1-1

B3-9

BR1-1

5
5

+52.260

+52.006

25
4

5
5

15
2

B3-5 B3-9
B2-2

6 6254

15
2

B3-2

3

+52.522

+52.108

+52.260

RF1-1

26
2

15
2

B4-1

8

8

B3-2
9

9

4*M20x50

+52.532

F1-1
B2-1

B1-1

+52.260

6*M20x55

4*M20x65+52.006

3

+52.133

+51.945

RF1-1

27
2

31
5

B1-1
B2-1

F1-1

5

5

30
7

6*M20x50

B1-1

B4-1

+51.960

+52.260

31
5

30
0

SC1-1

31
5

4*M20x65

8*M24x70

B1-1

+52.260

+51.945
F1-1

+52.133

15
5

3

3

B1-1

B4-1

F1-1

6*M20x50

4

4

30
7

B3-6 B3
-8

BR1-1DET. C
BR1-2

BR1-4

B3-5
BR1-3

BR1-4

BR1-2

BR1-3

BR1-1

B3-2

B2-3

1470
S1-1

SP1-4

20
*

31
70

DET. D
SP1-1

EXISTING FACADE LINE

1090

1678

DET. I

B4-2

SP1-3

68
5

B2
-1

DET. G

SP1-2

B3-12

1672

B3-9

DET. B

1678

B3-4

1470

B3-13

B3-11

B3
-1

0
B4-3

B3-3

B4
-1

F1-1

B3-1

B1-2

DET. E

B1-1

B2
-2

B3
-7

CENTER LINE OF PORTICO

DET. F

S1-1 S1-1S1-1

DET. H

1090

55
*

1672

17
25

76
0

23
00

20
*

B1-2

B4-2

30
7

B2-3

SP1-4

10

10

4*M20x50

SP1-3

B1-1

B4-3

6*M20x50

2*M24x75
2*M24x75

F1-111 11

26
2

30
0

+51.960

4*M20x50

B1-2B4-2

B3-10 2*M24x75

B2-3

SP1-4

+52.260

2*M24x65

6*M20x55

+52.522

15
2

2*M24x752*M24x75

6*M20x504*M20x65

+51.945

B1-1 B4-3

SP1-3

+52.260

+52.522

26
2

31
5



Section C
1:10

Section D
1:10

Section E
1:2

Detail K
1:10

Cage and cylinder
1:20

Section A
1:20

Section B
1:20

Detail J
1:10

Section 12
1:10

8*M20x50
C1-1

C2-1

700
1000

70
0

10
00

00 for production30/01/2025

00

1-11 Oxford St., Paddington, NSW 2021

1222

REV DATE DRNDESCRIPTION

Structural notes:

A2

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

Cage and cylinder
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

30.01.2025

- All workmanship & materials to be in accordance with AS 4100.
- Steel shall have a minimum yield stress (fy) of 250 MPa U.N.O.
- All welding to be general purpose (GP) in accordance with
AS/NZS 1554 using electrode types E48XX or W50X minimum U.N.O.
- Welds to be 6mm continuous fillet welds unless otherwise noted.
Butt welds are to be complete penetration butt welds as defined
in AS/NZS 1554 U.N.O.
- Bolts, nuts and washers to be supplied as hot dip galvanised
by the bolt manufacturer. After tightening, exposed faces of bolts,
nuts and washers shall be prepared and coated as specified, or
as for adjacent steelwork.
- All plate  corners to have radius 3mm.
- All plate grade 300.
- All beams UC, UB, PFC grade 300.
- All SHS, RHS grade 350.
- All steel to be primed.

8*M16x65
C2-2

740

C2-1

70
0

Packer
12*100*100

E E

700

74
0

C2-1
Packer
12*100*100

C2-2

8*M16x65

3
weld the nut

20
12

6

6*M20x65 6*M20x70

F2-1

C1-1

S2-1
370

BB

55*

C1-1

+52.532

20

EX
IS

TI
N

G
 F

AC
AD

E 
LI

N
E

1100

C2-2

12

DD

+55.400

+56.568

AA

CC

F2-1

C2-1

+57.770

S2-1

DET. J

C1-1

OF PORTICO
CENTER LINE C1-1

F2-1

EX
IS

TI
N

G
 F

AC
AD

E 
LI

N
E

S2-1

S2-1

OF PORTICO
CENTER LINE

DET. K

6*M20x65

12 12

C1-1

B2-2

6*M20x65

C1-1

+52.532



Section 14
1:10

Fins
1:20

Section F
1:20

Detail L
1:10 Detail M

1:10

Detail N
1:10

Detail P
1:10

Section 13
1:10

Section 15
1:10

FN1-4
C1-1

4*M20x70

00

1-11 Oxford St., Paddington, NSW 2021

1222

REV DATE DRNDESCRIPTION

Structural notes:

A2

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

Fins
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

30.01.2025

- All workmanship & materials to be in accordance with AS 4100.
- Steel shall have a minimum yield stress (fy) of 250 MPa U.N.O.
- All welding to be general purpose (GP) in accordance with
AS/NZS 1554 using electrode types E48XX or W50X minimum U.N.O.
- Welds to be 6mm continuous fillet welds unless otherwise noted.
Butt welds are to be complete penetration butt welds as defined
in AS/NZS 1554 U.N.O.
- Bolts, nuts and washers to be supplied as hot dip galvanised
by the bolt manufacturer. After tightening, exposed faces of bolts,
nuts and washers shall be prepared and coated as specified, or
as for adjacent steelwork.
- All plate  corners to have radius 3mm.
- All plate grade 300.
- All beams UC, UB, PFC grade 300.
- All SHS, RHS grade 350.
- All steel to be primed.

00 for production30/01/2025

FN1-1

FN1-2

FN1-3FN1-3

FN2-1

FN1-4

FN4-1

FN5-1

FN3-1

FN2-1

FN3-1

Facsia

Facsia Facsia

CENTER LINE OF PORTICO

EXISTING FACADE LINE

FN1-2

FN4-1

FN1-1

FN5-1

F

F

3579 3579

DET. P

DET. M

FN1-4

DET. L

DET. N

4*M24x80

FN1-4

B3-7

13

13
FN1-4 C1-1

4*M20x70

1414

4*M20x75

FN1-4

C1-1

15

15

FN1-4

2*M16x65

C2-1

C1-1

2*M16x65

66

B3-7

4*M24x80
FN1-4

FN1-4 4*M20x75

C1-1



Fascia
1:20

Section G
1:10

Section H
1:10

00 for production30/01/2025

00

1-11 Oxford St., Paddington, NSW 2021

1222

REV DATE DRNDESCRIPTION

Structural notes:

A2

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

Fascia
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

30.01.2025

- All workmanship & materials to be in accordance with AS 4100.
- Steel shall have a minimum yield stress (fy) of 250 MPa U.N.O.
- All welding to be general purpose (GP) in accordance with
AS/NZS 1554 using electrode types E48XX or W50X minimum U.N.O.
- Welds to be 6mm continuous fillet welds unless otherwise noted.
Butt welds are to be complete penetration butt welds as defined
in AS/NZS 1554 U.N.O.
- Bolts, nuts and washers to be supplied as hot dip galvanised
by the bolt manufacturer. After tightening, exposed faces of bolts,
nuts and washers shall be prepared and coated as specified, or
as for adjacent steelwork.
- All plate  corners to have radius 3mm.
- All plate grade 300.
- All beams UC, UB, PFC grade 300.
- All SHS, RHS grade 350.
- All steel to be primed.

EXISTING FACADE LINE

FS1-1 FS1-3

FS1-2

CENTER LINE OF PORTICO

G

G

H

H

20

elements
join of

elements
join of

35793579

92
6

24
09

1758182218221758

33
55

92
6

24
09

20

+52.490

1*M20x60
(slot hole)

23
0

B4-1

1*M20x60
(slot hole)

+51.730

81
0 FS1-1

+52.260

+51.960

+51.683 150 35

5
5

76
0

50

28
0

3*M6x50

FS1-2

81
0

into part
cut the thread

20
0

76
0

50

20
0



Soffit plate
1:20

Section J
1:5

Section I
1:5

00

1-11 Oxford St., Paddington, NSW 2021

1222

REV DATE DRNDESCRIPTION

Structural notes:

A2

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

Soffit plate
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

30.01.2025

- All workmanship & materials to be in accordance with AS 4100.
- Steel shall have a minimum yield stress (fy) of 250 MPa U.N.O.
- All welding to be general purpose (GP) in accordance with
AS/NZS 1554 using electrode types E48XX or W50X minimum U.N.O.
- Welds to be 6mm continuous fillet welds unless otherwise noted.
Butt welds are to be complete penetration butt welds as defined
in AS/NZS 1554 U.N.O.
- Bolts, nuts and washers to be supplied as hot dip galvanised
by the bolt manufacturer. After tightening, exposed faces of bolts,
nuts and washers shall be prepared and coated as specified, or
as for adjacent steelwork.
- All plate  corners to have radius 3mm.
- All plate grade 300.
- All beams UC, UB, PFC grade 300.
- All SHS, RHS grade 350.
- All steel to be primed.

00 for production30/01/2025

L1-1

75

L1-2

1041

L1-4

L1-3

CL1-1

L1-1

L1-1

L2-3

CL1-2

L1-2

L1-2

L1-4

L1-3

L1-1

elements
join of

L1-1

L1-1

L1-2

L2-1

L2-2

CL1-3

elements
join of

column cladding
cutout for the

column cladding
cutout for the

column cladding
cutout for the

J J

I

I

column cladding
cutout for the

75

SC1-1 SC1-1

SC1-1SC1-1

EXISTING FACADE LINE

CENTER LINE OF PORTICO

R
 1

50
0

R 
22

55

1041
35793579

75

151

33
35

20

6 6

151

CL1-1

2*M16x40

L1-1

Beam

+51.670

5

25
8

CL1-252

1*M10x30   @500mm

L2-2

+51.670

FS1-2

75



Roof plate and gutter
1:20

Section M
1:10

Section L
1:10

Section K
1:10

Section N
1:20

00

1-11 Oxford St., Paddington, NSW 2021

1222

REV DATE DRNDESCRIPTION

Structural notes:

A2

CKD

JOB No. ACALE @

CLIENT / SITE

DRAWING TITLE

ISSUED

Roof plate and gutter
REVDATE

UNIT 2, 37A KING ROAD, HORNSBY NSW 2077
FAX: 02 9482 4177                   PH: 02 9482 4461
www.arcroofing.com.au

30.01.2025

- All workmanship & materials to be in accordance with AS 4100.
- Steel shall have a minimum yield stress (fy) of 250 MPa U.N.O.
- All welding to be general purpose (GP) in accordance with
AS/NZS 1554 using electrode types E48XX or W50X minimum U.N.O.
- Welds to be 6mm continuous fillet welds unless otherwise noted.
Butt welds are to be complete penetration butt welds as defined
in AS/NZS 1554 U.N.O.
- Bolts, nuts and washers to be supplied as hot dip galvanised
by the bolt manufacturer. After tightening, exposed faces of bolts,
nuts and washers shall be prepared and coated as specified, or
as for adjacent steelwork.
- All plate  corners to have radius 3mm.
- All plate grade 300.
- All beams UC, UB, PFC grade 300.
- All SHS, RHS grade 350.
- All steel to be primed.

00 for production30/01/2025

N N

GT1-1

M

M

OF PORTICO
CENTER LINE

RF1-1

RF2-1

0.
02

365

0.005
0.005

L

L

K K

EXISTING FACADE LINE 36564
50

0

6377
31893189

26
54

55
0

500

GT1-1

25

RF2-1
RF1-1

3
3 3

3

EX
IS

TI
N

G
 F

AC
AD

E 
LI

N
E

5
5

5
5

5
5

64

550

14
2

92

5
5

1*M8x351*M12x35

5
5

RF2-1

RF1-1

5
5

1*M12x35
RF1-1

RF2-11*M12x35

5
5

GT2-1

23
2GT1-1

20
6

6382


